
9

1

2

10

2

2 13 14

8

3

34

7

6

4

5

11
12

BARYON
NR.	 PART						                  ARRTICLE NR.

1 FRAME
S
M
L
XL

ISC002873
ISC002874
ISC002875
ISC002876

2 TREADED BUSHING M3*P0.5 ISC003199
3 BOLT M3*P0.5*L12MM ISC003201
4 CABLE GUIDE ISC003200
5 BOLT M4*P0.7*L16 ISC003197
6 DERAILLEUR KIT ISC003196
7 THRU AXLE BOLT ISC003183
8 REARSTAY PROTECTION PLATE ISC003206
9 BOLT M5*P0.8*L14MM ISC003198
10 TREADED BUSHING M5*P0.8 ISC003202
11 BOLT M3*P0.5*L16MM ISC003203
12 BOLT M3*P0.5*L12MM ISC003201
13 CABLE GUIDE HEADSET V1 ISC003204
14 CABLE GUIDE HEADSET V2 ISC003205

ARCTIC BLUEountainbikes

https://www.isaac-cycle.com/nl_NL/p/baryon-draadbus-m5p08-ev8/60159/
https://www.isaac-cycle.com/nl_NL/p/baryon-bout-m3p05l12mm-ev10/60161/
https://www.isaac-cycle.com/nl_NL/p/baryon-cable-guide-ev9/60160/
https://www.isaac-cycle.com/nl_NL/p/baryon-bout-m4p07l16-ev6/60157/
https://www.isaac-cycle.com/nl_NL/p/baryon-achterderailleur-pad-ev4/60028/
https://www.isaac-cycle.com/nl_NL/p/torusbaryon-thru-axle-moer-ev22-5/60144/
https://www.isaac-cycle.com/nl_NL/p/baryon-rearstay-protection-plate/60166/
https://www.isaac-cycle.com/nl_NL/p/baryon-bout-m5p08l14mm-ev7/60158/
https://www.isaac-cycle.com/nl_NL/p/baryon-draadbus-m3p05-ev11/60162/
https://www.isaac-cycle.com/nl_NL/p/baryon-bout-m3p05l16mm-ev12/60163/
https://www.isaac-cycle.com/nl_NL/p/baryon-bout-m3p05l12mm-ev10/60161/
https://www.isaac-cycle.com/nl_NL/p/baryon-cable-guide-headset-v1-ev13/60164/
https://www.isaac-cycle.com/nl_NL/p/baryon-cable-guide-headset-v1-ev14/60165/

